import matplotlib.pyplot as plt
plt.style.use('classic')
smatplotlib inline

import numpy as np

import pandas as pd

# Create some data

rng = np.random.RandomState(0)

X = np.linspace(0, 10, 500)

y = np.cumsum(rng.randn(500, 6), 0)

# Plot the data with Matplotlib defaults
plt.plot(x, y)
plt.legend('ABCDEF', ncol=2, loc='upper left');

import seaborn as sns
sns.set()

# same plotting code as above!
plt.plot(x, y)
plt.legend('ABCDEF', ncol=2, loc='upper left');
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tips = sns.load dataset('tips')
tips.head()

total bill  tip sex smoker day time size
0 16.99 1.01 Female No Sun Dinner 2
1 10.34 1.66 Male No Sun Dinner 3
2 21.01 3.50 Male No Sun Dinner 3
3 23.68 3.31 Male No Sun Dinner 2
4 24.59 3.61 Female No Sun Dinner 4

tips['tip pct'] = 100 * tips['tip'] / tips['total bill']

grid = sns.FacetGrid(tips, row="sex", col="time", margin_ titles=True)
grid.map(plt.hist, "tip pct", bins=np.linspace(0, 40, 15));
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iris = sns.load dataset("iris")
iris.head()

sepal length sepal width petal length petal width species

0 5.1 3.5 1.4 0.2 setosa
1 4.9 3.0 1.4 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa

5.0 3.6 1.4 0.2 setosa
sns.pairplot(iris, hue='species',6 size=2.5);

C:\Users\admin\anaconda3\lib\site-packages\seaborn\axisgrid.py:2095:
UserWarning: The “size  parameter has been renamed to "height ; please
update your code.

warnings.warn(msg, UserWarning)
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